Bserumsvise Sinfonietta

Olav Abildgaard
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Barumsvise
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Marimba solo

(open)

Vocals solo
(open)

Bass solo

7

36

(free, open)

Vocals solo
(open)

d=50

Marimba solo

(open)

Fade in and out at will

Fade in and out at will

Bass solo

Fade in and out at will

Fade in and out at will

Fade in and out at will

Fade in and out at will

Fade in and out at will

Fade in and out at will

Fade in and out at will

Fade in and out at will

J=s0

Marimba solo

(open)

Vocals solo
(open)

Bass solo

(free, open)
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Marimba solo

(open)

Vocals solo
(open)
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Gmaj7 but really it's free

(free, open)

Solo end!

E but also free

Free

Mar. }éﬁf

Bass.
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You can do it an octave below

Barumsvise
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n octave below
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